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Use the node-voltage method to find vi and v,.

SOL'N: We sum +the durrents out of +he v, nade
and +then the v, node.

nede: SOmA + v, - 10V + VvV, -V, =0A
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Vo nede: v,—V, + Vg + 20mA = 0A
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Fer each P_%uq'tl.on} one qPFroach +o

the O\lﬂebr‘a ts *to qroup +‘erms Mu[{]rl)/[,hg
Vi and V, and move <constant terms <o
the rlﬂht side.
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The hnextyls to mulkiply by demmon denominaters.
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vi(2+3) —v, (3) = 20v- ooV

New Jor +he sedond eﬁua‘\:'t.on:
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—v,(8) + v, (1I5+4)

= — 2400 V
Summary of our -two eg’ns:
v, (5) = v, (3) = — 8oV
—v,(15) + v, Q9) = ~24%00V
One way to golve  these eﬁuq-l:i.ons 1s +o
multiply *the Firgt egh by 3 and add
the vyesult +o +he second eg’nJ canceui.nﬁ
the vV, term:
3v,(5) - 2v,(3) = 3(-lisov)
+ = v, sy +v, (19) = —2to0 Vv
VQ ClOB = —5494%0 V
er
V, = ~ 5940V = =594V
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an egh above, we Find v :
Vl —

= — 8oV + (-594 V)(3) = -592.4 v
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